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The Hershey Company…a bit of History
❖ The Hershey Company was founded in 1894 by Milton S. Hershey and is one of the 

largest chocolate manufacturers in the world
❖ Hershey was also known as

❖ Hershey Chocolate Factory
❖ Hershey Chocolate Corporation
❖ Hershey Foods Corporation

❖ Hershey sells and distributes products in more than 80 countries 
❖ Many popular name brands, just to name a couple

❖ Jolly Rancher
❖ Reese’s
❖ Kit Kat
❖ Kisses

❖ Hershey is headquartered in Hershey, Pennsylvania
❖ Employees 15,360 Full-time; 1,550 part-time
❖ Trades on NYSE, symbol “HSY”
❖ Ranked 379 on Fortune 500



Hershey: Income Statement – Revenue
❖ Hershey has had steady Revenue growth since 2015
❖ Net Sales grew .73% in 2016 and 1.01% in 2017
❖ Hershey spent less on trade promotional spending

❖ Cost of Sales increased in 2016 by $278M but then decreased by $211M in 
2017. 
❖ Reduction was due to lower commodity costs

❖ Gross profit decrease in 2016 was a result of the increased cost of sales that 
year.  



Hershey: Income Statement – Expenses
❖ Hershey reducing SG&A to essential spending 
❖ Goodwill and asset impairments associated with Shanghai Golden Monkey (SGM) 

acquisition
❖ Hershey associated with acquisitions increased expenses

❖ $280.8M write-down related to reassessment of value of SGM – 2015
❖ $208.7M write-down long-lived asset impairment charge associated with 

SGM- 2017

*Hershey sold SGM in July 2018



The Hershey Company: Net Income/EPS
❖ Hershey’s Net Income increased 40% in 2016 and 9% in 2017
❖ 2015 Net Income = $512,951
❖ 2016 Net Income = $720,044

❖ Increase in 2016 due to lower SG&A and no impairment or goodwill charges
❖ 2017 Net Income = $782,981

❖ Increase in 2017 not as high due to long lived asset charge

❖ Hershey’s EPS in 2017
❖ Common Stock = 3.79
❖ Class B Common Stock = 3.44



Hershey: Balance Sheet Analysis
Assets:
❖ Hershey’s PPE represents the largest 

asset at 38% of total assets.  
❖ Goodwill is 15% of total assets and 

increased in 2017 due to $128M 
acquisition of Ripple Brand Collective, 
Inc.

Liabilities:
❖ Liabilities decreased $74M from 2016

❖ Accrued liabilities decreased along 
with short-term debt in 2017

Stockholder’s Equity:
❖ Stockholder’s Equity increased $103M in 

2017
❖ Hershey has 149,040,927 of treasury 

common stock as of 2017.   

Working Capital = Current Assets-Current Liabilities
2,001,910-2,076,543=(74,633)

Hershey can’t pay it’s current assets right now with 
the current liabilities available 



Hershey:  Statement of Cash Flow
Operating Activities:
❖ Hershey provides cash flow from operations

❖  Increased by $236M in 2017 from 2016
❖ Gain in cash flow from non-cash such as goodwill, long-lived assets 

and depreciation.  Pre-paid and other assets contributed $18M 
increase to cash

Investing Activities:
❖ Hershey used $257M for capital additions

❖ Dollars were used for to expand and upgrade software
Financing Activities:
❖ Hershey repurchased $300M of common stock which included 1.5M 

shares from the Hershey Milton School

Operating total = 2017 - $1,249,515B and 2016 - $1,013,428B
Investing & Financing = 2017 - ($1,172,432B) and 2016 - ($1,059,850B)
Overall Cash Flow = 2017 - $380,179M and 2016 -$296,967M



Hershey: Ratio Analysis - 2017
❖ Current Ratio:  Hershey has $.96 for every $1 of assets to pay liabilities

Current ratio = current assets/current liabilities
2,001,910/2,076,543=.96

❖ Return on Equity: 84% is a very enticing number for an investor for the ROE
Return on Equity=Net Income/shareholder’s equity

782,981/931,565=84%
❖ Debt Ratio: This is a fairly high ratio for Hershey at 83.2% - Hershey is pretty dependent on 

borrowed money
Debt Ratio=Total Liabilities/Total Assets

4,622,161/5,553,726=83.2%
❖ Earning Per Share-Common Stock: Stockholders receive $3.79 per share as of FY 2017, 

this has increased every year for the past 3 years
Earning Per Share=Net Income-preferred dividends/weighted average shares outstanding

(574,164-0)/151,625=$3.79



Hershey: Vertical Analysis – Income Statement

❖ The cost of sales (a) is 54% of the net sales for 2017.  
❖ Decrease in the cost from 2016 by 4%.  However the cost of sales (a) 

is at 54% while the overall net income (b) is only 10%. The Net 
❖ Profit Margin (b) at 10% is actually low compared to the industry standard 

of 14.33% in 2017 according to csimarket.com



Hershey: Vertical Analysis – Balance Sheet

❖ Accounts receivable (c) at 11% of total assets. 
❖ Hershey’s receivable turnover was 12.85 times in 2017.  
❖ Collect receivables 28 times a year. 
❖  According to the SEC report, McLane Company, major customer, accounts for 24% of 

the receivables (c). 
❖ The Inventory (d) number for Hershey seems very reasonable at 14%.  Based on this 

number, would presume that Hershey keeps their inventories (d) fairly low and per the 
SEC 10K, Hershey values their inventory (d) at the lower cost which would keep the 
total dollars at a low rate.



Hershey: Horizontal Analysis – Income Statement



Hershey: Horizontal Analysis – Balance Sheet


